KEY

Math 110, 111 Practice Quiz # 2 – Sections 1.5 – 1.7
Division, Exponents, Properties

1. Evaluate the expression. Simplify to lowest terms when necessary.
a. 24 ÷ (-3) ÷ (-4)

2
b. 
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2. On five 25 point quizzes, you got the following number of incorrect answers;

 -3, -2, -5, -1, -9.
a. What is you average number of incorrect answers?

-4
b. What is your percentage of correct answers?


84%
3. Evaluate the expression.

a. (-7)2





49
b. -24





-16
c. -4 + 2 ( 3 ) + 8 ÷2(3 - 1)


4
d. 10 – 2[3(4 – 6) + 2(5 + 3) – 5] - 32

-9
4. Translate the verbal description into a numerical expression. Then evaluate the expression.

a. Seven less than the product of 3 and the square root of 16.
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b. The sum of the square of 4 and the quotient of 9 and 3.
42 + 9/3, 19
c. The difference of 10 and the product of 2 and 3.

10 – (2 x 3),  4
5. Use the given property to rewrite the expression in simpler form or as a sum or difference.
a. (x + 5) + 8: associative property

x + ( 5 + 8) = x + 13
b. -3(x – 5): distributive property

-3x + 15
6. Name the property:

a. a + (b + c) = (a + b) + c


associative property of addition
b. 8(203) = 8 x 200 + 8 x 3


distributive property


c. 5 x (2 + 3) = 5 x (3 + 2)


commutative  property of addition
d. -1(4 – a) = -4 + a



multiplication property of -1
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